BRES (v AUIRAVE)

<HEE>
. INTEAEAE
E R8/ 8 bt T oA Y 10A A
=20 i3 AT | %3 | ATH | B¥ | AT | BE | AT | BE
XAV RAVE RE Ll 1 4,320 | 5400 | 5400 | 5400
AR RAYVE FE L 1 6,480 | 7,560
xALUIRAYVE &l 1 L HEFE 7,560 | 7,560 | 7,560
LU RAYE R 1 vy 1,944 | 2,160 | 1,944 | 2,376 | 1944
BEEAFER) | Pv1UIRhvb rH 1 AL 2,970
X AR ARV EH 1 4320
DA S PES SN ITES 1 1,782
AR RAAVE Fh 1 5,400
AR RAVE itz 1 4,320 5,400
AR RABYE [EAqI] 1 1899 3,980
P& PEF S FE 1L 1 AV 5,400 | 5,400
SR AURRAVE 210 1 iz 3,980
DX AURRAAVE RE L 1 &7 5,724
LU RAYN R 1 A 1,980 | 1,980 | 1,980 | 1,980
S AU RAAYE RS 1 vy 2,980 | 2,980 | 2,980 | 2.980 | 2980 | 2,980
B (PR IR ARRAYE E% 1 AV 3,980 3,980
AR APV EH 1 L RETE 3.980
S AU RAYE IES 1 AL 1,980
SR AU RAVE I 1 Ny 2,980
SR AU RAVE I 1 Ny 3,980
AR RAYVE 3 2 &7 6.280
SR AURRAVE iR 1 A 3,980 | 3.980 | 3,980
U AURAHAYE i 1 L[4 iE 4304 | 4304
XAV RAVE RE Ll 1 2,700 | 3,240 | 3,240
AR RAYVE FE L 1 5,400 5,400 | 5400
(AR SR AR RAVE RS 1 7 2,160
AR RAYE £ 1 v 1,620
SR AURRAYE E% 1 2,700 | 2,700 | 5,400
DA S PES SN ITES 1 2,700
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BRES (v AUIRAVE)

<ERREZME>
e INSEATHE
&2 mh/ i Eih 9A 104 11A8
=0 i A | & | AR | & | ATd | &F | AT | &F

SR AURANVE L 1 6,480 | 6480
v AURAHDYE RE L 1 LGk 12,960 | 7.350 | 5,760
XAV RAVE Fhi 1 8,640

ERERFFEAPRR)| LA/ IRAVE Fh 1 gk 9,720 | 9,720
v AURAHDYE F 1 gk 14,040
I AURAHAYE 117 1 bk 9,720 (11,880
v AURAHYE 117 1 bk 14,040

RS () DX AURAAVE RE L 1 &7 8,964 | 7.884 | 7.884
DAEESSID]S £ 1 AL HEFE 6,804 | 6,804

< KEERE>

e INSEATRE
&2 mh/ i 3} 9A 104 1A
=H i A | A | AIE | & | ATH | B&F | AT | &F

SR AU RAYE £ 1 v 980 | 1.280 | 980 | 1,706

KBBREACIRR)| 1 IRAVE £H 1 A 537
IR AU RAAVE L 1 {ERETE 6.500
AR RANYE B4 E 1 1,058
PASPEF L] FE L 1 AL 2,678 | 2,678
SR AU RAVE L 1 6.458

REERECCIRR) vvA1rIRAVE ¥ 1 AV 1,058 | 1,058 | 1,382
AR ANAYE % 1 AV 1,680 | 2,138
AR RAAVE =5 1 1,058
XAV RAVE LN 1 1,382 | 1,382
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